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Q.1. Choose the correct answer - 

1) The price of a chocolate is Rs. 12. What is the cost of 12 Chocolates? 

 a) 13 ÷ 12   b) 12 × 13  c) 13 - 12   d) 13+ 12 

2) Rajeev has 10 chocolates. He ate 2 of them. How many chocolates are left with him? 

 a) 10 + 2   b)  10 × 2  c) 10 - 2   d) 10 ÷ 2 

3) Mansi has 20 toffees. She gave 5 toffees to her younger brother. How many toffees does Mansi 

 have? 

 a) 20 + 5   b) 20 × 5  c) 20 - 5   d) 20 ÷ 5 

4) Anu got 10 toffees form her uncle and 5 toffees from her aunty. How many toffees does Anu 

 have? 

 a) 10 + 5   b) 10 × 5   c) 10 - 5   d) 10 ÷ 5 

5) A pair of trousers requires 2 m of cloth. How many trousers can be made out of 10 m of cloth? 

 a) 10 + 2   b) 10 × 2  c) 10 - 2   d) 10 ÷ 2 

6) One truck can carry 25 bags of cement. How many trucks are needed to carry 500 bags of 

 cements? 

 a) 500 + 25   b) 500 × 25  c) 500 ÷ 25   d) 500 - 25 

7) Nikita has 25 books. Her mother gets her 2 more books. How many books does Nikita have 

 now? 

 a) 25 + 2   b) 25 × 2  c) 25 ÷ 2   d) 25 - 2 

Q.2. Find the sum - 

 1,30,499 + 38,324 + 68   

 

 

 

 

 

 



Q.3. Find the difference - 

 1,002,127 and 899 

           

 

 

 

 

 

 

 

Q.4. Multiply - 

 11627 × 185 

 

 

 

 

 

 

 

 

Q.5. Divide – 

 425662 ÷ 34 

 

 

 

 

 

 

 

 

Q.6. A complete school uniform costs Rs. 520. If there are 675 children at school, what will be the 

 cost of uniform of all the children? 

 

 

 

 

 

 

Q.7. Draw the following angles using protractor - 

a) A right angle ABC 

 

 



 

 

 

b) An obtuse angle XYZ 

 

 

 

 

 

 

 

 

c) An angle PQR 60
o 

 

 

 

 

 

 

 

d) An angle LMN of 135
o 

 

 

 

 

 

 

 

 

 

Q.8. Draw a line segment measuring - 

a) 6.8 cm       

 

 

 

 

 

b) 8.9 cm 

 

 


